    



                UST/AT/4NM4  (YNSAA)

B.Sc. DEGREE EXAMINATION, APRIL 2016.
II YEAR — IV SEMESTER

Allied II –– NUMERICAL METHODS
Time : 3 hours
    Max. Marks : 60
SECTION A — (10 × 1 = 10 marks)

Answer any TEN questions.

1. Prove that δ= E-1/2∆.

2. Prove 
[image: image1.wmf]EE

Ñ=D=Ñ

.
3. State Newton’s divided difference interpolation formula for unequal intervals.
4. State Lagrange’s formula for  interpolation.
5. State Bessel’s interpolation formula.

6. State Stirling’s formula
7. State the Newton –Raphson method formula.
8. Define a transcendental equation.
9. State Trapezoidal rule.

10. State Simpsons 1/3 rd rule.
11. State Lagrange’s inverse interpolation formula.

12. State Horner’s formula.

SECTION B — (5 ×4 = 20 marks)

Answer any FIVE questions.

13. Using Newton’s backward interpolation formula find the value of f(x) at x=9 given that:

	x
	2
	5
	8
	11

	y
	94.8
	87.9
	81.3
	75.1


14. Using divided difference table, find f(x)which takes the values 1,4,40,85 as x=0,1,3,4 by Newton’s divided difference formula. 

15. Using Everett’s formula estimate y(30) given 

	x
	20
	28
	36
	44

	y
	2854
	3162
	7088
	7984


16. Find a root of the equation cos x = 3x-1 correct to 4 decimal places by 

Bisection Method.
17. Evaluate 
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 by using Trapezoidal rule.
18. Apply Bessel’s formula to get the value of y(45) given:
	x
	40
	44
	48
	52

	y
	51.08
	63.24
	70.88
	79.84


19. Evaluate  
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 by Simpson’s 1/3rd rule.

SECTION C — (3 × 10 = 30 marks)

      Answer any THREE questions.

20.  Estimate e-1.9 from the given data using Newton’s forward interpolation formula
	x
	1.00
	1.25
	1.50
	1.75
	2.00

	e-x
	0.3679
	0.2865
	0.2331
	0.1738
	0.1353


21. Using Lagrange’s interpolation formula find the value of tan33 given the following table .
	X
	30
	32
	35
	38

	Tan x
	0.5774
	0.6249
	0.7002
	0.7813


22. Apply stirling’s formula to get the value of y(45) given

	x
	40
	44
	48
	52

	y
	51.08
	63.24
	70.88
	79.84


23.  Solve the system of equations by Gauss-Seidal method.
       
28x + 4y –z = 32;  x + 3y + 10 z = 24 ; 2x + 17y + 4z = 35
24. Evaluate  
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 by Simpson’s 3/8th rule.
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